
Concrele numbeo 

LsC Co 
Vo+-ryt 

X 
, 

Xo) =Xu C at 

V = (O0 + S-3)< = (o0 + 7E = 40 

zE 300 
t= (SO 

Vo (00 

C1, X»= 5o 

3 x 
(00+ 2 

nconstynt volume 
mabes nleyzhng 

facur 
a power 

he 
volume 

3/2 
dX 
TE+VFt X = sC10047 

3 
(+2 =(lo0+74 "2 )= yu) 

e 

(x (1004Z) **) = s(tD+74 ) *2 

X (lOo+2U) *? =S5(/00+26t 

= 5 4)+c 
du/ 

3 

S0=Xlo) (N0 + C (100) 2 C =60-lo0). l0 = -50 13 
- Sx l0 

T03 

X (0042+) (004 2t2 

So0 32 

foU-50,y 400 So,owo 

(46) 2 
20 203 

XCISO) = (Lo0 + B00) 
t 3oo)S'2 

6.5 

393.15 b) 



{ "type": "Document", "isBackSide": false }



